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Rather, said Rovoh; this is what he said; he whose wall was, etc.

OVERVIEW'

X127 explained that the 71wn i1s teaching us that if a person had a wall which was
distanced four mnX from his friend’s wall, and his wall collapsed, the new wall
needs also to be distanced nmX '7 from his friend’s wall, mdo0IN questions the
necessity of teaching this rule in this manner.

nvoIN asks:
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The 2''2%9 asked; why did the Xin of the 7wn find it necessary to mention this

ruling, in such an awkward manner; meaning -
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That he already had a wall a distance of nyaX '7 from his neighbor’s wall, and it

collapsed, so the new wall must also be distanced M»X '7; why mention all this -
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The mwn should have taught instead, that one should not put his wall near his
friend’s wall unless he distanced his wall n¥R '7 from his friend’s wall?!

mMooIN anticipates (and rejects) a possible answer:
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And we cannot say that it is only when it specifically occurred in this manner -
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Where it was already distanced nyX '7, for he distanced the first wall, it is

only in this case that the m1wn rules that he cannot be 92Y0; however if he never
distanced himself, he need not distance himself now —

MooIN rejects this proposed answer:
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For if indeed this is so why does the &7 shortly challenge this ruling by saying;

!'See ‘Overview’ to previous ¥»p1 71"7 'O
2 Why mention that there was a previous wall (distanced nnax '7) which collapsed; what does that add?!
3 The reason why we should make this distinction is because if initially the first wall was distanced n1aX '7, one can
argue that perhaps the neighbor paid him to distance himself nX '7 or they came to a mutual agreement (with a 1°1p)
to distance mnX 7, therefore now this same agreement is binding, but if there was never a wall, one may argue that
XwN7 is not a sufficient reason to distance one wall from the other (see the end of the previous X»p1 7"7 'o1n that
RwN7 is less of a reason to distance than other 1°p°11 MPRN).
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‘the reason he must distance from a window is because he should not darken it,*
or the reason he must distance is because of the ladder,” but not on account of

NW7’, when in those cases (one can say) he was never 171 previously so therefore there is no
7pnn for XN, since according to this proposed answer, 7m0 for XWN7T is only required when
he was already P17 previously. Therefore, according to the proposed answer, the questions on
X217 are not understood. However, since the X713 did ask these questions, this proves that the
7m0 of XWNT is even by the initial wall, so why did the 71wn have to state its ruling in a case
where the initial wall collapsed?! n1921n does not answer his question.®

SUMMARY
It is not understood why the 7wn had to give a case where there was an initial
wall; the same rule applies even if this was the first wall.

THINKING IT OVER
How can we explain why n901n did not accept the answer’ of the X"2w1 and w"X1?

* The x> later on this Ty challenges 821, who maintains that the reason for the Apm77 in our 73w is because of
Xwn7, from another 71wn which states that when erecting a wall near the neighbors existing wall which has windows,
one must distance the new wall from the windows n»X '7 in order not to darken the windows. The X3 infers that
the only reason for the 7pnn7 is 2°98° XoWw, but otherwise there would be no need to be 1 on account of RwNT.
5 The x7»3 asked an additional question from the 71wn which states that one must distance a wall from a rain gutter '7
mnX in order that there be room to place a ladder to clean out the gutter. The same question arises that the only
reason we need to distance the wall is because of the ladder, but if not for that concern we would not need to
distance for we are not concerned for Xw17.
6 The X"2w1 and the w"X1 answer that there is a novelty that one must distance even if there was a prior wall which
was distanced nnR 7. We might have thought the since there already were two walls with a nmX '7 separation, so
there was sufficient w7 to strengthen the ground and the walls, therefore now when there is a new wall, there is no
longer a need for Xwn7, therefore the miwn teaches that even in this case there is still a need for X117 (and 7pAAT).
See “Thinking it over’.
7 See footnote # 6.
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